Elementary & and B
MP--Nona

Arpeggios

IMMT-—Naone

Elementary C and D
MP—Root position only, tonic major and minar triads starting .
cn white kays, two octaves hands separately or together.,
Intermediata A and B
MP—Root pasition only, all tonic major and minor triads, two
octaves hands together.
Intermediate C, D, E, F
MP~—Three positions, all tonic major and minor triads, two
octaves hands togsther.
To facilitate learning, arpeggios are grouped according to fingering
rather than given in order of the circle of 5ths.

® Exercises in this book are notaied to avaid
. L feger lines as much a3 possible, but needn’t
all white keys (all fingered alike) be played in tha octave written.
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Notice that the right thumb and left fifth finger play the first notes of all
chord positions starting on white keys. In positions starting on black keys,
the right thumb plays the lowest white key and the left thumb, the highest.
All-black-key chords are fingered like those with all white keys.
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ARPEGGIOS
Intermediate C, D, E, F continued
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ARPEGGIOS

intermeadiate C, D, E, F continued

one black key
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two black keys

Intermediate C, D. E,F

ARPEGGIOS
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